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QUESTION 1
A developer is setting up a new Node.js server with a client library that is built using events and callbacks.
The library:

Will establish a web socket connection and handle receipt of messages to the server Will be imported with require, and
made available with a variable called we.

The developer also wants to add error logging if a connection fails.

Given this info, which code segment shows the correct way to set up a client with two events that listenat execution
time?

A. ws.connect (( ) => { console.log("connected to client\\'); }).catch((error) => { console.log( ERROR\\', error); }};
B. ws.on (‘connect\\, () => { console.log("connected to client\\'); ws.on("error\\', (error) => { console.log(ERROR\\'
.error); 1; P; C. ws.on (‘connect\\, () => { console.log(‘connected to client\\'); }}; ws.on(error\\', (error) => {
console.logCERRORV\', error); }};

C. try{ ws.connect (() => { console.log(‘connected to client\\'); }); } catch(error) { console.log( ERROR\\' ,error); }; }

Correct Answer: C

QUESTION 2

Refer to the expression below:

Let x =1\ + 2) == (6 * 2);

How should this expression be modified to ensure that evaluates to false?
A.Letx=(C1W + " 2\) == (6 * 2);

B. Letx = (1\\' + 2) == (6 * 2);

C.Letx=(1+2)==("6\/2),

D.Letx=(1+2)==(6/2);

Correct Answer: B

QUESTION 3

A team that works on a big project uses npm to deal with projects dependencies.

A developer added a dependency does not get downloaded when they executenpminstall.
Which two reasons could be possible explanations for this?

Choose 2 answers
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A. The developer missed the option --add when adding the dependency.

B. The developer added the dependency as a dev dependency, and NODE_ENV Is set to production.
C. The developer missed the option --save when adding the dependency.

D. The developer added the dependency as a dev dependency, and NODE_ENYV is set to production.

Correct Answer: BCD

QUESTION 4
A developer wants to leverage a module to print a price in pretty format, and has imported a method as shown below:
Import printPrice from “/path/PricePrettyPrint.js\\';

Based on the code, what mustbe true about the printPrice function of the PricePrettyPrint module for this import to work
?

A. printPrice must be be a named export
B. printPrice must be an all export

C. printPrice must be the default export
D. printPrice must be a multi exportc

Correct Answer: C

QUESTION 5

Refer to the code below:

const car = {

price:100,

getPrice:function(){

return this.price;

}

h

const customCar = Object.create(car);
customCar.price = 70;

delete customCar.price;const result = customCar.getPrice();

Whatis the value of result after the code executes?
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A. 100

B. undefined
C. null
D. 70

Correct Answer: A
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